Chapter 10 Answer Key



1. A charley horse would result from a baseball pitch that hits the anterior thigh. Tearing or bruising of the quadriceps femoris leads to a hematoma and substantial pain. 

2. All muscles are stretched at times. For example, contraction of the triceps brachii stretches the biceps brachii. If the biceps brachii were not elastic, it would not recoil to a normal resting length when the tension on it was released. It would remain stretched, and in accordance with the length-tension relationship, it would contract weakly when called to action.

3. (a) Muscles that move the eyes. Eye movements must be relatively quick and therefore employ fast-twitch muscles. The contractions of swallowing are relatively slow. (b) The muscles of handwriting. These muscles must act quickly, and writer’s cramp shows that they are quite subject to fatigue. The abdominal muscles must maintain posture and therefore resist fatigue, but they need not contract quickly. (c) Muscles of the tongue. Tongue movements are relatively quick whereas the anal sphincter does not need to be quick, but must be fatigue-resistant.

4. The meaty bellies of the muscles that move the fingers and wrists lie in the proximal part of the forearm. The muscles have long tendons that serve as indirect attachments to wrist and finger bones. Long tendons increase mobility and dexterity by keeping the bulk of the muscle out of the wrist and hand.

5. When lifting barbells, the origin (the relatively stationary end) would be the anterior surface of the humerus and the insertion (the more mobile end) would be the coronoid process and tuberosity of the ulna. In contrast, when pulling oneself up a cliff, the humerus is moved and would therefore be the insertion, while the ulna is more stabile and would technically be the origin. This illustrates the point that the conventional descriptions of muscle origins and insertions do not apply to all actions that are performed.

